) The ages of ¢ deachevs In a school ase as

follows. calcylgle 4he Mean and Median gf the
ages ?

QA7 4"32/-53/40,38/5’/30

A9 Mean = SUm__ o3 4433+ s3t 40 + 35
0-0f fevs si 430
g
- Mean = 39

|

PN,

Median = %, 30, 32,3%, 40, 41,.51.,63

= 3%‘%’(;.0_:39
Z =

Median= 39

P

2)The heights of (o students in a class aee in
Arxithmelic sequence | calculate the mean
and median of 4he heights %

125, 140, 145,150 ,1_6__"?_ , 160, 16S 170,135, [0

Ans)  NMeoan = 35+ 140+14S+ ISO+ISSH {60-+16Y,;-(270+[7§-+

{O
= 16745

PR

Medion = €5t 160 — (57.&

P =




